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929939 = 97 x 9587 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 419429
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goboobooobooboboobboobboobooobooo

Q=464999 0000
P = 510510n + 464999

2P + 1 =2(510510n + 464999) + 1 = 10210201 + 929998 + 1 = 10210207 + 929999

0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 5105100 + 465029

2P + 1 = 2(510510n + 465029) + 1 = 10210201 + 930058 + 1 = 10210201 + 930059
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oooo
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P = 510510n + 465037
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P = 510510n + 465041

2P 4+ 1 =2(510510n + 465041) + 1 = 10210201 + 930082 + 1 = 10210201 + 930083
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P = 510510n + 465043

2P + 1 = 2(510510n + 465043) + 1 = 10210201 4 930086 + 1 = 10210201 + 930087
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P = 510510n + 465071
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Q=4650770000
P = 5105100 + 465077

2P + 1 = 2(510510n + 465077) 4+ 1 = 10210201 4+ 930154 + 1 = 10210201 + 930155
0000010210200 20 2003,5,7,11,13,17000000 10000000

930155 =5 x 17 x 31 x 353 x 1
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2P + 1 = 85(12012n + 10943)
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P = 510510n + 465079

2P + 1 =2(510510n + 465079) + 1 = 10210201 + 930158 + 1 = 10210201 + 930159
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oooo
2P + 1 = 3(340340n + 310053)
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P = 510510n + 465083

2P + 1 = 2(510510n + 465083) + 1 = 10210201 4 930166 + 1 = 10210201 + 930167
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Q=4651090000
P = 510510n + 465109

2P + 1 = 2(510510n + 465109) 4+ 1 = 10210201 4+ 930218 + 1 = 10210201 + 930219
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930219 =3 x 43 x 7211 x 1
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